Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING — SEMESTER -5 (NEW) - EXAMINATION - SUMMER-2022

Subject Code:3350604 Date :07-06-2022
Subject Name:Estimating , Costing & Valuation
Time:02:30 PM TO 05:30 PM Total Marks:70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of non-programmable scientific calculator is permitted.

English version is authentic.
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Q.1 Answer any seven out of ten. cauizl sIHUBL Uld-l sxalotL il

List factors considered for rate analysis
RUUA YASSL L HUR 5L Yo 6L YR v,

State two purposes of specification.

Y12 ulze101 quil,

Give standard lead and lift in excavation.
cfls vt (@52 <l A1HI2Ad Qdd] SlHd sypual.

Define depreciation.
SlHd |1 gzl <l el w0

O Xk 0w oD ok

Give multiplying factors for painting fully glazed window, flush door, rolling
shutter, paneled door.

u. 5@ 51H HI2 <l Aelis 2L :

State extra length of bars to be given for-hooks , bent up in steel bars.

:/(\

AL HL G5 2ied 612 204 HIZ Aol BR1l @rons srpdl.

7. Define prime cost an spot item.

Q. ULDH 5122 Died 2UL2 2AS52H, < UZlML[iA 530

Give units of measurements for—skirting, woodwork in frame, glazing, site clearance

‘. HIUHIZ AL 25(201 22 HLgg a5,

9. Give Weight of one cum cement.

. 25 4Bl H{l22 [AH2 Al Aoy Quil,

10. Povide format for Abstract Sheet and Measurement sheet
10. 2162252 9il2 i HerH2 2l2 L waAs il

Q.2 @) Explain how units of measurements for various construction items are defined ,Give
examples.
s 2 (Bl) OUESIH HLHIUBLL <Al D15H 5241 SUAIR <A55] 52311 209 89, 210l 2AL

OR
@) State qualities of good estimators ,also define his responsibilities.
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215 U121 BIESY512 AL AEHH QUil, 21 A<l syalore1dlAl syl

The cost of a machine is Rs. 4,25,000/-. Calculate depreciated cost by Constant
percentage method and Straight line method after 5 years if useful life of machine is
20 years.

25 gl «{l vle 5lMd 4,25,000 214 Guioll @1s 20 A €I AL 5 Al usdl o He g 251912l <l
A 2 9il=l vl L <ld 2l 2iAl

OR

Find out the yearly installment of sinking fund for a building costing Rs.800,000/-
at rate of interest 8% ,taking life as 30 years.

25 Hsl oy<il §lHA 800000/ 9 w1 24124 30 AL 216fl 8% <UL sy (21531 58 <Al AUl 3l Al

Explain rules of deduction for openings in brickwork.
2RAZ5IH HI2 UL AL 6l1EoE] <AL {11 urmal.

OR
Explain rules of deduction for opening in plaster work.
11222511 HIZ DUUATIL AL o1Eo1S] AL 1AM UFmal

Determine the quantity of steel work in main bars in retaining wall stem from given
fig.2
24 25l Hoyot 10 Hl @il RCC) A2loala <AL Geal @it <L 4o 4l < ot 521

OR

Find out the quantity of materials for RCC (1:2:4) for retainning wall 10 m long
given fig 2

we fig 2 uniel <l 10 Hl @il RCC (1:2:4) Aziloiana Hiz wzdlaa Al sl s2i

Calculate guantities of (a) (b) and (c) referring fig 1
244 fig 1 UHIBL (21),01) @i 5) 21eil 2iEl

Excavation in foundation.
YLALHL VESIH

OR
PCC in foundation
WAL L dlAlRdl as

Nos of Flooring tiles of size 60x60 cm . in Drawing and Bed room
60X60 <l 2156 2L 41591 34, 2 618 34, 1L sldloL Wiz

OR
Wood wok in door and window frames

oU<l £2A1o <{l 34 HI2 48 A5

Brick work in superstructure above plinth upto slab .

YL il BuR Aol Yellapuz 22542 WI2 2A0d2 s14

OR
Internal Plastering on ceiling and walls
(25 wet1z22 [Aldod £laizl uz

RCC work in slab and lintels
£9d, vl [E2a dlo12 1L 24134 14) 51

OR

Form work in slab and lintels.

£9d i<l [G2et o2 HL 51H 45

Write objects of writing specifications.
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OR
Write principles of writing specifications.
2ULSl5uA @valel Reseid avil,

Derive rate analysis for RCC work in slab and beams using 1:1.5:3 concrete and
1.5% steel.
£9d i<l (A2t 95w {1312 ML 1:1.5:3 ML vUdlR{l 514 HI2 ed yass2eL 52,2214 1.5% IRl

OR

A property earns net income of Rs.52000 annually. The life of the property is 30
years. If rate of interest on capital is 6% & on S.F.is 4%. Decide the value of
property.

25 [Hesd <l Allils 2095 52000 9, A<l @ds 30 AL GIS Al Hlesd 4 Her diElLyél 2UsieLur sy
6% il LRSI UL ALY Ll 22 4% HIR.

Calculate the guantity of earthwork by mid ordinate method for a road section
having following details

Formation width 12.0 m ,the formation level at 0. M chainage is 110.0 m and
longitudianal upward gradient of 1 in 100,take Side slope 1:1

Chainage(m) 0 30 60 90 120 150 180 210
G.L.(m) 109.2 109.6 109.4 109.5 1105 1106 111 1114

25 218 HI2 HIZL s1H <l ol (g 208042 L Ad =l 521

sl <l usiald 12 Hl ot de 0 Hl 2oy u2 4 444 110 Hl &9 o412 1:100 AL AZAL SL0LEY U1

Alaln 1:1 ¢
Chainage(m) 0 30 60 90 120 150 180 210
G.L.(m) 109.2 109.6 109.4 1095 1105 1106 111 111.4

Enlist types of value and explain any one
Hetl <Al UsIR <l A2l 20l 25 4 Al

Derive rates for ist class brickwork in superstructure using 1: 5 cement mortar
522 5A1A AAdR 51H 1:5 HIZ GULA U550 521,

Define S.O.R. ,explain use of S.O.R.
S.O.R. Al cuvn 241M] uudl

Differentiate brief and detailed specifications .
25 ot dlatdanz 2uglgl5e- i dslad syeudl.
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